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1. (15%) Suppose a queue implemented in a circular fashion is in the state shown in the diagram below. Draw
a diagram showing the structure after the letters G and R are inserted, three letters are removed and the
letters D and P are inserted. .
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2. (15%) Drawa sequerice aiagram indicating that object A calls the method bb in object B, B performs the
requested action and returns control to A, and then A calls the method cc in object B.
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-3 (15%) Dyaw the parse tree for the oxpiressioh < y+y i3
A FEEBEEEE X xxy+y+x 8347kt

Expression Torm

4. (15%) Apply the procedure MysteryPrint (defined below) to the value 3 and record the values that are
printed.
BRAGEEH 3 3o TAF MysteryPrint » SRRA A 0¥t A 472
procedure MystryPrint (N)
if (N > @) then
Print N;
MystryPrint (N-2);
end if

Print N+1;
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5. (10%) A process that is waiting for a time slice is said to suffer starvation if it is never given a time slice.
How, would you guess, do many operating systems avoid this problem?
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6. (15%) Identify the errors present in the HTML document below, and modify it accordingly.
$HHEFERTF HTIML 2 K25 ¥ iif 69483% -
<html> .
<title>First Web Page</title>
<head>
</head>
<bady>
<h7>Networking Fundamentals</h7>
<img src="Mesh_Topology.jpg”>
</html>
<body>

7. (15%) If the message
XXy Yyz XXy Xxyy _
were compressed using LZW with a starting dictionary whose first, second, and third entries were x, y, and
space, respectively, what would be the entries in the final dictionary?
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